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Screening Test for the post of Trained Graduate Teacher (TGT)

/i ;f;fﬁz J?' j’!’/ ) @ff/-} Father name-.ﬂ&ééé-éiéﬁéﬁ ......

Which of the following is the smallest prefix?

(a)‘ﬁ/"tfto (b) pico {c) nano (d) femto

A body in equilibrium must not be

(a) at rest (b) moving (c) rotating (d)‘gc;zelerating
The slope of distance-time graph represents

(a) acceleration (b) change in acceleration (c)‘ggeed (d) distance

A bike begins 10 accelerate at a constant 0.3 m/s? for 3s, what is its change in velocity?

(@69 s (b) 1.5 m/s (c) 1.95 m/s (d) 2.4 m/s

5. KITAB UL MANAZIR is the pame of bool written by

(a) Yaqub Kindi  (b) onal Haitham  (c) Al Beruni (d) None
How many times the centripetal force will increase if the mass of a body moving with
unform speed in a circle is doubled?

<
() two times (b) three times (c) four times (d) six times

_ Which of the following forces can act as centripetal force:

-
(a) tension (b) fraction (c) gravitational force (d)véll of these
Conventionally anti-clock v:;isc torque is taken as
() negative (b)“ﬁositive (c) parallel {(d) zero

The angle at which *X’ and ‘y’ components of force are equal is

(@0 (b) 30° (c)45° (d) 60°

,_.../'/1 0 ]

Rt

12,

The S.1 unit for gravitational constant ‘G’ 18
(a) NKg? () Nm?Kg™ (c) Nm’Kg2 (d) Nm 2K g?
When a body is moved from sea level to the top of & mountain, there is change in the
body’s %

(a) mass (b) weight (c) both mass & weight (d) none
An object of mass 10 kg is lifted vertically through a height of 5 m, the gravitational
potential energy gained by the object is

Ve

(a) 103 (b) 20 J () 507 (dY490 3



13, Which material is more elastic

(a) wood (b) rubber (c)“ggeel (d) plastic
14, The S.I unit of strain is p
(a) Kgm (b) Pa (c) N (d)fone
15, Liquid and gases are collectively categorized as P
(a) Liquid (b) Pascals (c} Fluids (d) None
- "16. When water at 0°C is heated it contracts till temperature reaches
(a) 1°C (bj{l/"C (c) 100°C (d) 1000°C
~ 17. The amount of heat required to raise the temperature of 1 kg of water by 1 kis
(a) 10017 () 200J () 310 (d)"‘ﬁ?% ]
N 18, The transfer of heat by convection is smallest 1 i
| (a) Solids (b) Liquids (c) Gases (d) None
) 'l..9. Which of the following has the highest thermal conductivity
(a) Wood (b)"ﬁv/;ter (c) wool (d) air

e .20. A wave transports
(a)vgnergy but no matter (b) matter but no energy (c) both energy & matter
{(d) none
\ ~ 21. Which of the following does not affect the period of the mass-spring system -
| (a) mass (b) spring constant (c)%phtude of vibrations (d)"All
of the above affect the period

. .77 An echo occurs when a sound wave is

(a) absorbed (b) transmitted (c) refracted (d)\;gf;’ected
23 Which of the following cannot transmit sound y

(a) solid (b) liquid (c) gas (d}vacuum
/4. The focal length of convex mirror with radius of curvature 10 cm is ,

(a) +10 cm (b) +5 cm (©) -10 em (@55 em
25, The human eye forms the 1mage of an object at its

(a) Iris (b) retma (c) pupil (d) cornea

v 20.The value of coulomb constant (K) depends on
(a) Value (\)?)arges (b) material medium (c) separation between charges
(d) all of these



, 27 A capacitor ‘C” has charge “(Q’, the actual charges on the plates are

@QQ (5 Q.0 ©QQ (d) Q/2,-Q2
. 28 The resistance of a wire will decrease by increasing
(a) temperature (b) length (c)'diameter (d)botha& b
19, Two resistance of 1 {2 are connected in parallel, the equivalent resistance is 7
- (a) 2Q b)y1.5Q ()1 £ (d%.s Q
30, Sliprings areapartof
(a) DC motor (bﬁ/AC generator (¢) transformer (d)
‘ mnagnet
“31.A step-up transformer increases P
(a) power (b) energy (c)v(fgltage (d) current
= 32. The unit of inductance, Henry, is equivalent to
(a) Vs/A (b) VA/m (c) As/V (d) V/IA
/33, If the magnetic field is applied parallel to the direction of electron beam, the electron will
(a) Speed up (b) slow down (c) deflect (d) not change its
state
Y. 34.1f the electric field is applied to the direction of electron bean, the electron will
(a)&”gfpeed up (b) slow down (c) deflect (d) not change its
state
. 35.The Boolean equation for NAND gate is ﬁw / .
(a) X=AD (b) X=A+B (c) X=AB (d) X=A+B
j? 36. The phenomenon of total internal reflection is used in the };ansmission of signal through
(a) Electric wires (b) optical fiber (c)‘véectromagnetic waves  (d)
radio
"3’/. Telephone transmission is the example of transmission of signals through e
(a)  Electric wires (b) optical fiber (c) electromagnetic waves (d) aii
“ab&ce

L ,--"38. What type of nucleus decay leaves the number of protons and neutrons unchanged?
(a) Alpha decay (b) Beta decay (c)\'Garmna decay (d)botha &b
39 Origin o energy from the Sun and Stars is

(aj fission (b) fusion (c) carbon dating (d) radioactivity



’ 40 If the distance between two charged particles is halved, the Coulomb force between the
two charge particles become P o
(a) half (b) one quarter (c) double (dﬁour times
%, " 41. A convex lens with focal length 8.00 cm has the power of the lens
(@) 2.05D (b) 4.00 D 125D (@) 160D
-, 42. The loudness of a sound is most closely related \jo/its
(a) frequency (b) period (c) wavelength (d) amplitude
43 If the pendulum completes exactly 12 cycles in 2.0 min, the frequency of the pendulum is
(&) 0.10 Hz (b) 0.17 Hz (c) 6.0 Hz (d) 10.0 Hz
v 44 An object at Earth and taken to Moon should have
(a) Same mass/more weight (b) less mass/less weight (c) same mass/same
weight  (d) same mass/less weight
45, The shortest distance between two couple forces is
(a) moment arm (b\’)/couple arm (c) radius (d) double moment
_“46. The unit used for pressure in weatl/lpr maps 1$
(a) Atm (b) Pa (c) bar (d) Nm™*
. . '47.If the string of the pendulum is shortened to half its original length, then the frequency
will
(a}/f;crease by a factor of V2 (b) decrease by a factor of V2 (c) increase by

a factor of % (d) decrease by a factor of \%

/\\48 Cytoscope is an instrument used to diagnose
 (a) blood (b) eyes (cj"éiomach (d) bladder

49, How much work must be done to increase the potential of a charge 2.5x107 C by 100 V?
Y 1.5x107 (b3/2.5><10'5 () 3.5%10°  (d) 4.5%107

50 A small flashlight bulb draws 300 mA from its 1.5 V battery, the resistance of the bulb 1s

(a) 3Q (by S Q2 © 10 Q (d)15Q
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21 Which of the following is the smallest prefix?
vé) atto (b) pico (c) nano (d) femto

5 A body in equilibrium must not be

(a) atrest (b) moving (c) rotating ‘«{) accelerating
3. The slope of distance-time graph represents
(a) acceleration (b) change in acceleration (b)/ speed (d) distance
~ 4. A bike begins to accelerate at a constant 0.3 m/s? for 3s, what is its change in velocity?
| W& 0.9 m/s (b) 1.5 m/s (c) 1.95 m/s (d) 2.4 m/s
5 KITAB UL MANAZIR iff‘/ the name of bool written by
(8)  Yaqub Kindi (H) Ibnal Haitham  (c) Al Beruni (d) None

6. How many times the centripetal force will increase if the mass of a body moving with
unform speed in a circle is doubled?
\@{A two times (b) three times (c) four times (d) six times
¢ ~ 7 Which of the following forces can act as centripetal force:
(a) tension (b) fraction (©) gravitational force (d) all of these

~'3. Conventionally anti-clock /\gvise torque is taken as

(a)  negative (Y positive (c) parallel (d) 2610
9. The angle at which x? and ‘y’ components of force are equal is
() 0° (b) 30° we) 45° (d) 60°
~"10. The S.T unit for gravitational constant ‘G’ 18
(2) NKg? ) Nm?Kg (c) Nm?Kg2 (d) Nm?Kg?
“11. When a body is moved from sea level to the top of a mountain, there is change in the
body’s
(a) mass (6) weight (c) both mass & weight (d) none

12 An object of mass 10 kg is lifted vertically through a height of 5 m, the gravitational

potential energy gained by the object is B/
(a) 10J (b)2017 (c) 5017 (d) 4907



" 13. Which material is more elastic

(a) wood (b) rubber (¢) steel (d) plastic
14 The ST unit of strain is
(a) Kgm? (b) Pa (c) Nm™> (ﬁﬂlone
15, Liquid and gases ar¢ collectively categorized as
" () Liquid (b) Pascals (¢ Fluids (d) None
16, When waler at 0°Cis heated, it contracts till temperature reaches
. (a) 1°C 55/ 4°C (c) 100°C (d) 1000°C
“17. The amount of heat required to raise the temperature of 1 kg of water by 1 k is
@ 10017 (b) 200 (€)3101J \/(4§4190J
18 The transfer of heat by convection is smallest in '
(aY Solids (b} Liquids (¢) Gases (d) None
. //19. Which of the following has the highest thermal conductivity
(a) Wood (bdatter (c) wool (d) air

7 20, A wave transports
: \,Qé{ Energy but no matter (b) matter but no energy (c) both energy & matter
(d) none
" 91, Which of the following does not affect the period of the mass-spring system
(a) mass (b) spring constant () amplitude of vibrations  (d) All
of the above affect the period

7 22. An echo occurs when a sound wave is

_ () absorbed (b) transmitted (c) refracted \{jreﬂected
. 73, Which of the following cannot transmit sound
(a) solid (b) liquid (c) gas (c{ vacuum
“/ 24.The focal length of convex mirror with radius of curvature 10 cm is
(a) +10 cm (‘{)-’&*5 cm (c) -10 cm (d)-5cm

S 25. The human eye forms the image of an object at its

(a) Iris ) retina (c) pupil {(d) cornea
:‘26. The value of coulomb constant (K) depends on

(a) Value of charges (bﬁé::erial medium (c) separation between charges

(d) all of these



27. A capacitor ‘C’ has charge ‘Q’, the actual charges on the plates are .~

(@ Q. Q ®) Q.0 (© Q,Q @ Q. -Qn
~"98. The resistance of a wire will decrease by igcreasing
(a) temperature (b) length (ca/diameter (dybotha& b
. 29. Two resistance of 1 Q are connected in parallel, the equivalent resistance is
20 M15Q (@©1Q (d)0.5Q
30. Slip rings are a part of
| VQ&{DC motor (b) AC generator (¢) transformer (d)
magnet

" 31. A step-up transformer increases

(a) power (b) energy (5) voltage (d) current
19, The unit of inductance, Henry, is equivalent to
(a) VS/A AB) VA (c) As/V () V/A
L 33. If the magnetic field is applied parallel to the direction of electron beam, the electron will
. (a)Speed up (b) slow down (c) deflect (d) not change its
state

'/ 34, If the electric field is applied to the direction of electron bean, the electron will

_(_a)/Speed up (b) slow down (c) deflect (d) not change its
V staic
35, The Boolean equation for NAND gate is /
 (a) X=AD PYX=A+B (S X=AB (d) X=A+B
36, The phenomenon of total internal reflection is used in the transmission of signal through
(a) Electric wires (B optical fiber (c) electromagnetic waves (d)
_ radio
37 Telephone transmission is the example of transmission of signals through
(a)  Flectric wires (b) optical fiber (c) electromagnetic waves (Hél
. a,b&c

) 38, What type of nucleus decay leaves the number of protons and neutrons unchanged?

(a) Alpha decay (b) Beta decay Gamma decay (d)bothadkb

39 Origin o energy from the Sun and Stars is

\/Qés fission (b) fusion {c) carbon dating (d) radioactivity



\ 40, If the distance between two charged particles is halved, the Coulomb force between the

two charge particles become

~
4) half (b) one quarter (c) double (d) four times
~41. A convex lens with focal length 8.00 cm has the power of the lens
(8) 2.05D (b) 4.00 D (\1{52.5 D (d) 16.0D

. 42 The loudness of a sound is most closely related fo its
\ (a) frequency (b) period (c) wavelength ((5/ amplitude
;. 43.1fthe pendulum completes exactly 12 cycles in 2.0 min, the frequency of the pendulum 18
| (a) 0.10 Hz () 0.17 Hz (e} 6.0 Hz (d) 10.0 Hz
44, An object at Earth and taken to Moon should have
(a) Same mass/more weight . (b) less mass/less weight (c) same mass/same
weight  (dysame mass/less weight
45 The shortest distance between two couple forces is
(a) moment arm (b¥ couple arm (c) radius (d) double moment

/ ©46. The unit used for pressure in weather maps is

(&) Atm (b) Pa (c) bar (d) Nm?
N 47. 1f the string of the pendulum is shortened to half its original length, then the frequency
will
(a) Increase by a factor of V2 (b) decrease by a factor of V2 (c) increase by
a factor of % decrease by a factor of %
48 Cytoscope is an instrument used to diagnose
(a) blood (b) eyes 14¢) stomach  (d) bladder

/"4, How much work must be done to increase the potential of a charge 2.5%107 C by 100 V?
(a) 1.5%107 (b‘jz 5%10°  (c)3.5x10°  (d)4.5%107
L 50. A small flashlight bulb draws 300 mA from its 1.5 V battery, the resistance of the bulb is

/(a) 30 (b) 5 Q) (©) 10 Q @) 15Q
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Screening Test for the post of Trained Graduate Teacher (TGT)

me:f_{_})u chbakht

1. Which of the folloving is the smallest prefix?
\(aj atto (b) pico (¢) nano (d) femto

2 A body in equilibrium must not be

Father name

-

(a) at rest (b) moving {c) rotating X{d‘)"accelerating

-3, The slope of Jistance-time graph represents

(a) acceleration (b) change in acceleration

v{ﬁﬂpeed (d) distance

" 4. A bike begins to accelerate at a constant 0.3 m/s? for 3s, what is its change in velocity”

L5 0.9 m/s (b) 1.5 m/s (c) 1.95 m/s (d) 2.4 m/s
5 KITAB UL MANAZIR is the name of bool written by
(a)  Yaqub Kindi ¢y Tbnal Haitham (c) Al Beruni (d) None

\ 6. How many times the centripetal force will increase if the mass of a body moving with

anform speed in a circle is doubled?

(@  two times (b) three times L{C)”fﬂgur times (d) six times

\" 7. Which of the following forces can act as centripetal force:

(a) tension (b) fraction L Ley /g:ravitational force (d) all of these
g. Conventionally anti-clock wise torque is taken as
(a) negative \/QBY positive (c) parallel (d) zero
"9, The angle at which * x> and ‘y’ components of force are equal is
@0 (b) 30° ey 45° (d) 60°
10, The S.I unit for gravnatlonal constant ‘G’ 18
(a) NKg? o) Nm?Kg? (c) Nm?Kg2 (d) Nm?Kg’
. 11, Whena body is moved from sea level to the top of a mountain, there is change in the
body’s
(a) mass Meigh‘{ A (c) both mass & weight (d) none

N 12. An object of mass 10 kg is lifted vertically throu

potential energy gained by the object is

gh a height of 5 m, the gravitational

(a) 107 (6)20J ()50 ] (d) 490 1



\ﬁ 13. Which material is more elastic

(@ wood (b) rubber ¢ steel (d) plastic
14 The $.I unit of strain is
(a) Kgm™ (b) Pa (¢) Nm™ \_(dyfione
15 Liquid and gases arc collectively categorized as
(a) Liquid (b) Pascals ey Fluids (d) None
\, 16, When water at 0°C is heated, it contracts till temperature reaches
T @ic (b) 4°C _Loy100°C (d) 1000°C
W17, The amount of heat required to raise the temperature of 1 kg of water by Lkis
(a) 10017 (b) 2007 107 (d)41901J
“18. The transfer of heat by convection is smal}éiif
&) Solids (b) Liquids (c) Gases (d) None
19 Which of the following has the highest thermal conductivity
(a) Wood \(bj"\%ater (c) wool (d) air

./ 20. A wave transports

(a) Energy but no matter (b) matter but no energy ~.{c) both energy & matter

(d) none
“"91. Which of the following does not affect the period of the mass-spring system
(a) mass (b) spring constant \gg,;znplitude of vibrations  (d) All

of the above affect the period
. 35 An echo occurs when a sound wave is

(a) absorbed (b) transmitted (c) refracted \_(dyreflected
> 53, Which of the following cannot transmit sound

(a) solid (b) liquid (c) gas \_(dyvacuum
24. The focal length of convex mirror with radius of curvature 10 cm is
@40 (b) +5 cm «_(ey<10 cm (d)-5 cm

‘/25 The human eye forms the image of an object at its

(a) Iris (byreiina (c) pupil (d) cornea
.26, The value of coulomb constant (K) depends on

(a) Value of charges (bymaterial medium (c) separation between charges

(d) all of these



‘ "‘j%m

27 A capacitor ‘C” has charge “QQ, the actual charges on the plates are

(@) Q,Q Q.0 \X@/Q -Q (d) Q2,-Q72
N 28. The resistance of a wire will decrease by increasing
(a) temperature \Lbj’Té?lgth (c) diameter (d) botha & b
~-29. Two resistance of 1 © are connected in parallel, the equivalent resistance is
(a) 2Q (by1.5Q ()18 Ld) 0.5 Q
430, Slip rings are a part of
(2) DC motor °ij”’§é generator (¢) transformer (d)
magnet

. 31, A step-up transformer increases

(a) power (b) energy (c) voltage L {drCurrent
32. The unit of inductance, Henry, is equivalent to
(a) Vs/A Ay VA/m (c) As/V (d) V/IA
33. If the magnetic field is applied parallel to the direction of electron beam, the electron will
(a) Speed up (b) slow down v (eydetlect (d) not change its
state

34. 1f the electric field is applied to the direction of electron bean, the electron will
L/\La)“‘Speed up (b) slow down (c) deflect (d) not change its

state

~"35. The Boolean equation for NAND gate is

(@) X=AD (b) X=A+B ACTX=AB (d) X=A+B
36, The phenomenon of total internal reflection is used in the transmission of signal through
(a) Electric wires \{Je:r)/ogtical fiber (c) electromagnetic waves (@)
radio
37, Telephone transmission is the example of transmission of signals through
(a) Electric wires (b) optical fiber {©) electromagnetic waves z(’(f)ﬂ’;il
a,b&c

( 38. What type of nucleus decay leaves the number of protons and neutrons unchanged?

(a) Alpha decay (by Beta decay (¢) Gamma decay (dbotha& b

39, Origin o energy from the Sun and Stars 18

(a) fission \/G:r)/fusion (¢) carbon dating (d) radioactivity



40, If the distance between two charged particles is halved, the Coulomb force between the

two charge particles become
(a) half 1_(bYy0ne quarter (c) double (d) four times
“41. A convex lens with focal length 8.00 cm has the power of the lens
(a) 205D (b) 4.00D L12.5D (d)16.0D
42.The loudness of a sound is most closely related to its
(a) frequency (b) period (c) wavelength \,édfgmrﬂitude
'_.\r-'ﬁﬁ 43. If the pendulum completes exactly 12 cycles in 2.0 min, the frequency of the pendulum is
" (a) 0.10 Hz (b) 0.17 Hz 6.0 Hz (d) 10.0 Hz
\\44 An object at Earth and taken to Moon should have
a (a) Same mass/more weight \Ll})‘*’i’é's/s mass/less weight (c) same mass/same

_ weight  (d) same mass/less weight

y " 45. The shortest distance between two couple forces is

4‘ (a) moment arm \/ij"gggple arm (¢) radius (d) double moment

46, The unit used for pressure in weather maps is
@ Am  (b)Pa () bar (d) Nm™

47. If the string of the pendulum is shortened to half its original length, then the frequency
will
(a) Increase by a factor of V2 (b) decrease by a factor of V2 \_(c)iticrease by
a factor of \,'% (d) decrease by a factor of —\-/1—5

\48 Cytoscope is an instrument used to diagnose
| (a) blood  B) eyes (c) stomach  (d) bladder
/7 49. How much work must be done to increase the potential of a charge 2.5%107 C by 100 V?
() 1.5x107%  (b) 2.5x107% L(e)3.5%10°  (d) 4.5%107
- 50. A small flashlight bulb draws 300 mA from its 1.5 V battery, the resistance of the bulb 18
" (5239 () 5 Q (c) 10 Q (d) 15 Q
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L Which of the following is the smaliest prefix?
@5 atto (b) pico (c) nano (d) femto

. 2. A body in equilibrium must not be

N
- (a) at rest (‘5) moving (c) rotating {d) accelerating
~3, The slope of distance-time graph represents
(a) acceleration (b) change in acceleration (c) speed (d) distance
4. A bike begins to accelerate at a constant 0.3 m/s? for 3s, what is its change in velocity?
@) 0.9 ms (b) 1.5 ms (c) 1.95 m/s (d) 2.4 m/s
& KITAB UL MANAZIR is the name of bool written by
(@  Yaqub Kindi {b) Ibnal Haitham () Al Beruni (d) None

6. How many times the centripetal force will increase if the mass of a body moving with

unform speed in a circle is doubled?

{a)  twotimes (b) three times (c) four times (d) six times
7. Which of the following forces can act as centripetal force:

(a) tension {B) fraction (c) gravitational force (d) all of these
8. Conventionally anti-clock wise torque is taken as

(a) negative (B) positive (c) parallel (d) zero
-9, The angle at which ‘x” and Y’ components of force are equal is

(a) 0° (b) 30° g(c) 45° (d) 60°
10, The S. unit for gravitational constant ‘G’ is

(a) NKg? (byNm’Kg? (c) Nm*Kg2 (@) Nm?Kg*
11, When a body is moved from sea level 1o the 10p of a mountain, there is change in the

body’s

(a) mass {b) weight (c) both mass & weight (d) none

12. An object of mass 10 kg is lifted vertically through a height of 5 m, the gravitational
potential energy gained by the object is
(a) 10] {®)201] () 507 (d) 490 1



: /,,-/’"’13. ‘Which material is more elastic

(a) wood (b) rubber (c;) steel (d) plastic
. .14, The 8. unit of strain is w
(2) Kgm~ (b) Pa (c) Nm™ a(d} none
15 Liquid and gases ar¢ collectively categorized as
- (2) Liquid (b) Pascals ((c) Fluids (d) None
16, ‘When water at 0°C is heated, it contracts till temperature reaches
(a) 1°C {oy4°C (¢) 100°C (d) 1000°C
1T The amount of heat reqilired to raise the temperature of 1 kg of water by 1 k is
| (a) 100 (by200) (€) 3107 (d) 4190 ]
. 18.The transfer of heat by convection is smallest in
{(2) Solids (b) Liquids (c) Gases (d) None
.~ 19. Which of the following has the highest thermal conductivity

(a) Wood @) water (c) wool (d) air
- 20, A wave transports :
\(a} Energy but no matter (b) matter but no energy (c) both energy & matter
{(d) none
1. Which of the following does not affect the period of the mass-spring system
(a) mass (b) spring constant {iéjgiamplitude of vibrations  (d) All
of the above affect the period
'99.-An echo occurs when a sound wave is
(a) absorbed (b) transmitted (¢) refracted {;{:a“j);}reﬂected
. 23. Which of the following cannot transmit sound
(a) solid (b) liquid (c) gas {d) vacuum
24. The focal length of convex mirror with radius of curvature 10 emis
(a) +10 cm ( (b)\+5 em (¢)-10 cm (@) -5 cm
. 25. The human eye forms the image of an object at its
R(a) Iris (b) retina (c) pupil (d) cornea
. 26. The value of coulomb constant (K) depends on
(a) Value of charges (:b} material mediuvm  (c) separation between charges
(d) all of these



27, A capacitor ‘C’ has charge “(Q’, the actual charges on the plates are

(@ QQ (b Q, 0 @ (@) Q12, Q12

28 The resistance of a wire will decrease by increasing

(a) temperature (b) length (c diameter (d)botha &b
29, Two resistance of 1 {2 are connected in parallel, the equivalent resistance is

(@) 2 Q H15Q  ©1Q (@050
~"30. Slip rings are a part of

{a) DC motor (b} AC generator (c) transformer (d)

magnet

31, A step-up transformer increases

(a) power (b) energy ié}évoltage (d) current
32 The unit of inductance, Henry, is equivalent td
{(@)yVsia (b) VA/m (c) As/V (d) V/A
33, If the magnetic field 1s applied parallel to the direction of electron beam, the electron will
(a) Speed up (b) slow down (c) deflect (d) not change its
state

34, If the electric field is applied to the direction of electron bean, the electron will
(a) Speed up (b) slow down fc} defiect (d) not change its

gtate

. 35, The Boolean equation for NAND gate is

(a) X=AD ((b)X=A+B (c) X=AB (d) X=A+B
‘ 36. The phenomenon of total internal reflection is used in the {ransmission of signal through
(a) Electric wires (b) optical fiber (c) electromagnetic waves ‘(cﬁg
radio

. © 37. Telephone transmission is the example of transmission of signals through

(a) Electric wires (b) optical fiber (gj electromagnetic waves (d) all

a,b&c

/38, What type of nucleus decay leaves the number of protons and neutrons unchanged?

(a) Alpha decay (b) Beta decay (¢) Gamma decay \(\di botha&b

#39, Origin o energy from the Sun and Stars is

(a) fission =“fb1-fusion (¢) carbon dating (d) radioactivity



- 40. 1f the distance between two charged particles is halved, the Coulomb force between the

two charge particles become

(a) half (b) one quarter (¢) double k(d? four times

<<<<<<

_~41. A convex lens with focal length 8.00 cm has the power of the lens

(2) 2.05 D (b) 4.00 D (©)12.5D (d) 160D
“42. The loudness of a sound is most closely related to its

{a) frequency (b) period (c) wavelength (d} amplitude

./ 43 Ifthe pendulum completes exactly 12 cycles in 2.0 min, the frequency of the pendulum is

(a) 0.10 Hz (b)0.17 Hz (c) 6.0 Hz (d) 10.0 Hz

44, An object at Rarth and taken to Moon should have

(2) Same mass/more weight (b) less mass/less weight (c) same mass/same
weight {d); same mass/less weight
S " 45. The shortest distance between two couple forces is

(a) moment arm i@j}couple arm (¢) radius (d) double moment

./ 46. The unit used for pressure in weather maps is

(@) Atm (b) Pa (¢) bar (d) Nm™

47, If the string of the pendulum is shortened to half its original length, then the frequency
will
(a) Increase by a factor of V2 (b) decrease by a factor of V2 (c) increase by

1 1
a factor of 5 (d) decrease by a factor of N

48. Cytoscope is an instrument used to diagnose

(a) blood 5@}?6}/63 (c) stomach  (d) bladder

- 49. How much work must be done to increase the potential of a charge 2.5%x107 C by 100 V7

(@) 1.5x10%  {(b)2.5%10°  (0) 3.5x10°  (d) 4.5%107
~"'50. A small flashlight bulb draws 300 mA from its 1.5 V battery, the resistance of the bulb is
(a) 3 Q (bys @ () 10Q @) 15 Q

it
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. thh of the following is the smallest prefix?

g atto (b) pico (c) nano (d) femto
o . A body in equilibrium must not be

(a) at rest (b) moving (c) rotating

"y

The slope of distance-time graph represents
(a) acceleration (b) change in acceleration @speed (d) distance

A bike begins to accelerate at a constant 0.3 m/s? for 3s, what is its change in velocity”?
0.9 m/s (b) 1. S m/s (c) 1.95 m/s (d) 2.4 m/s

&

- KITAB UL MANAZIR is the name of bookwritten by
(@)  Yaqub Kindi @ Ibnal Haitham  (c) Al Beruni (d) None

. . How many times the centripetal force will increase if the mass of a body moving with
unform speed in a circle is doubled?

e two times (b) three times (c) four times (d) six times

=

Which of the following forces ¢an act as centripetal force:

(a) tension (b) fraction (c) gravitational force A ol of these

8. Conventionally anti- clock wise torque is taken as

(a) negative positive (c) parallel (d) zero

9 The angle at which ° x’ and ‘y’ components of force are equal is

(a) 0° (b) 30° 45° (d) 60°
10, The S.1 unit for gravitational constant ‘@ is

(2) NKg? @ ke’ (c) Nm2Kg2 (@ Nm2Kg?
_,,-""11 When a body is moved from sea level to the top of a mountain, there is change in the

body’s

{a) mass we1ght , (c) both mass & weight (d) none

" 12. An object of mass 10 kg is lifted vertically through a height of 5 m, the gravitational
potential energy gained by the object is
() 1017 (b) 20 (c)5017

@ 490 s



~"13. Which material is more elastic

(a) wood (b) rubber (d) plastic
“14. The S.1 unit of strain is
() Kgm™ (b) Pa (¢) Nm™? @ none
15, Liquid and gases are collectively categorized as
~ (a) Liquid (b) Pascals @ riuics (d) None
- ”16. When water at 0°C is heated, it contracts till temperaturc reaches
(a) 1°C {c) 100°C (d) 1000°C

" 17. The amount of heat required to raise the temperature of 1 kg of water by 1 k is

(a) 106017 (b) 200 ] (c) 3107 54190 ]
“"18. The transfer of heat by convection is smallest in
(b) Liquids (c) Gases (d) None
19, ich of the following has the highest thermal conductivity
(a) Wood @ water (c) wool (d) air

0. A wave transports

@ Energy but no matter (b) matter but no energy (c) both energy & matter
. (d) none

- 21. Which of the following does not affect the period of the mass-spring system

(a) mass (b) spring constant amplitude of yibrations  (d) All

of the above affect the period

2. An echo occurs when a sound wave is

(a) absorbed (b) transmitted (c) refracted @ reflected
~"23. Which of the following cannot transmit sound

(a) solid (b) liquid (c) gas @ vacuum
# 24 The focal length of convex mirror with radius of curvature 10 cm is

(a) +10 cm (b) +5 cm (c)-10 cm

55 The human eye forms the image of an object at its

(a) Iris @ retina (¢) pupil (d) cornea
_ 6. The value of coulomb constant (K) depends on

(a) Value of charges @ material medium (¢) separation between charges

(d) all of these






27 A capacitor ‘C” has charge ‘(Q’, the actual charges on the plates are
(@ QQ (b) Q. 0 @ -Q (d) Q/2,-Q12

-, 28.The resistance of a wire will decrease by increasing

(a) temperature (b) length (c) diameter @both a&b

29, Two resistance of 1 {2 are connected in parallel, the equivalent resistance is

(a) 28 (b) 1.5 &2 (c) 1€
* 30, Slip rings are a part of
@ DC motor (b) AC generator (c) transformer (d)
magnet

-”31. A step-up transformer increases

(a) power (b) energy @VOltage (d) current

" 37 The unit of inductance, Henry, is equivalent to
& VoA (b) VA/m (c) As/V (d) V/A

" 13, If the magnetic field is applied parallel to the direction of electron beam, the electron will
(a) Speed up (b) slow down (c) deflect @ not change 1ts

__ state

34 If the electric field is applied to the direction of electron bean, the electron will

(a) Speed up @ slow down (¢) deflect (d) not change its
state

35, The Boolean equation for NAND gate is

(8) X=AD (b) X=A+B @ x-AB (d) X=A+B
" 36, The phenomenon of total internal reflection is used in the transmission of signal through
(a) Blectric wires @ optical fiber (¢) electromagnetic waves (d)
radio '

37. Telephone transmission 1S the example of transmission of signals through

’ Flectric wires (b) optical fiber (c) electromagnetic waves (d) all
_ a,b&c¢
38. What type of nucleus decay leaves the number of protons and neutrons unchanged?
(a) Alpha decay (b) Beta decay @ Gamma decay (dybotha&b

/39, Origin c{energy from the Sun and Stars is
(@ fission @@ fusion () carbon dating  (d) radioactivity






40. If the distance between two charged particles is halved, the Coulomb force between the
two charge particles become
(a) half (b) one quarter (c) double @ four times
“41. A convex lens with focal length 8.00 cm has the power of the lens
(a) 2.05D (b) 4.00 D @ 125D (d) 16.0 D
.42, The loudness of a sound is most closely related to its
(a) frequency (b) period (c) wavelength @ amplitude
43, If the pendulum completes exactly 12 cycles in 2.0 min, the frequency of the pendulum is
@ 0.10 Hz (b) 0.17 Hz (c) 6.0 Hz (d) 10.0 Hz
44, An object at Earth and taken to Moon should have
(a) Same mass/more weight (b) less mass/less weight (c) same mass/same
weight @ same mass/less weight
-“45. The shortest distance between two couple forces is
(a) moment arm @ couple arm (c) radius (d) double moment
.~ '46. The unit used for pressure in weather maps is
(a) Atm (b) Pa @ bar (d) Nm™
47. If the string of the pendulum is shortened to half its original length, then the frequency
will
(a) Increase by a factor of V2 (b) decrease by a factor of V2 (c) increase by
a factor of %‘_ @ decrease by a factor of %

48. Cytoscope is an instrument used to diagnose

@ blood (b) eyes (c) stomach  (d) bladder
" 49. How much work must be done to increase the potential of a charge 2.5x107 C by 100 V7
(a) 1.5x107 @ 5x10°  (0) 3.5x10%°  (d) 4,5%107

50 A small flashlight bulb draws 300 mA from its 1.5 V battery, the resistance of the bulb is
(@) 3Q &0 () 10 Q (d)15Q
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Name: "(’;CE‘" 2 *‘f'f*é (2 Father name /97 A, (ZZ%/L -----

R Which of the following is the smallest prefix?
@ ato (b) pico (c) nano (@) femto
2. Abody in equilibrium must not be
(a) at rest (b) moving (c) rotating ‘ accelerating
. 3. The slope of distance-time graph represents
(a) acceleration (b) change in acceleration @ speed (d) distance

4. A bike begins to accelerate at a constant 0.3 m/ &2 for 3s, what is its change in velocity?

@ 09 ms (b) 1.5 m/s (c) 1.95 m/s (d) 2.4 m/s
T KITAB UL MANAZIR is the name of bool written by
(@  Yaqub Kindi @ Ibnal Haitham (c) Al Beruni (d) None

~ 6 How many times the centripetal force will increase if the mass of a body moving with
| unform speed in a circle is doubled?
(a)  two times (b) three times @ four times (d) six times

s Which of the following forces can act as centripetal force:

(a) tension (b) fraction @ gravitational force (d) all of these
"¢, Conventionally anti-clock wise torque 18 taken as

(a) negative O positive (c) parallel (d) zero

©9. The angle at which ‘X’ and ‘y’ components of force are equal is

(a) 0° (b) 30° I ENN (d) 60°

Vl() The S.I unit for gravitational constant ‘G 1s

(a) NKg? @& NmKg” (c) Nm?Kg2 (d) Nm™?Kg’
11, When a body is moved from sea level to the top of & mountain, there is change in the

body’s
(a) mass ‘ weight (c) both mass & weight (d) none

s '12. An object of mass 10 kg is lifted vertically through a height of 5 m, the gravitational
potential energy gained by the object 1s

(a) 10J (b) 20 J ©) 5017 @ 00!
“o Cl 5
-
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L13 Which material is more elastic

(a) wood (b) rubber @ stec! (d) plastic
/14 The ST unit of strain is
(a) Kgm? (b) Pa (¢) Nm? @ none
.15, Liquid and gases are collectively categorized as
(a) Liquid (b) Pascals @ Fluids (d) None
1 6. When water at 0°C is heated, it contracts till temperature reaches
(a) 1°C @ 4°C (c) 100°C (d) 1000°C
: 17 The amount of heat required to raise the temperature of 1 kg of water by 1 kis
. (a) 100J (b) 200} (c)3101) @ 419501
"y 18, The transfer of heat by convection is smallest in
| @ Solids (b) Liguids (c) Gases (d) None
/19 Which of the following has the highest thermal conductivity
(a) Wood @ water (c) wool (d) air

. 20. A wave transports
V @ Energy butno matter (b) matter but no energy (c) both energy & matter
(d) none
: 1. Which of the following does not affect the period of the mass-spring system
| (a) mass (b) spring constant @ amplitude of vibrations ~ (d) All
of the above affect the period

.~ 22. An echo oceurs when a sound wave is

(a) absorbed (b) transmitted (¢) refracted @ reflected
y /93 Which of the following cannot transmit sound '
V (a) solid (b) liquid (c) gas @ vacuum
w24, The focal length of convex mirror with radius of curvature 10 cm is
(a) +10 cm (b) +5 cm 6 -10 cm (d) -5 cm

,} 25 The human eye forms the image of an object at its
(a) Iris @ rctina (c) pupil (d) cornea
26 The value of coulomb constant (K) depends on

(a) Value of charges @ material medium (c) separation between charges

(d) all of these I L



27.
o 29,

.30,

731,
“32,

33,

734,

i 35,

- 36.

- 37.

A capacitor ‘C’ has charge ‘Q)’, the actual charges on the plates are

(@ Q.Q Q.0 @Q < (@) Q/2,-Q2
The resistance of a wire will decrease by increasing

(a) temperature (b) length (c) diameter @botha&hb

Two resistance of 1 2 are connected in parallel, the equivalent resistance 1s

(a) 2 Q 1 1.5Q ©1Q @osQ

Slip rings are a part of

(a) DC motor @ AC generator (c) transformer (d)
magnet

A step-up transformer increases

(a) power (b) energy @ voltage (d) current

The unit of inductance, Henry, is equivalent to

@ VoA (b) VA/m (€) As/V (d) V/IA

If the magnetic field is applied parallel to the direction of electron beam, the electron will

(a) Speed up (b) slow down (c) deflect @ not change its
state

If the electric field is applied to the direction of electron bean, the electron will

(a) Speed up @ slow down (c) deflect (d) not change its
state

The Boolean equation for NAND gate 1S

——

() X=AD (b) X=A+B (c) X=AB @ X-A1B

The phenomenon of iotal internal reflection is used in the transmission of signal through

(a) Electric wires @ optical fiber (c) electromagnetic waves (d)
radio

Telephone transmission is the example of transmission of signals through

(a)  Electric wires (b) optical fiber (c) electromagnetic waves @l

a,b&c

What type of nucleus decay leaves the number of protons and neutrons unchanged?

(a) Alpha decay (b) Beta decay @ Gamma decay (d)botha&b

-39, Origin o energy from the Sun and Stars is

(a) fission @ fusion (c) carbon dating (d) radioactivity



“40. If the distance between two charged particles is halved, the Coulomb force between the

two charge particles become

(a) half (b) one quarter (c) double @ four times
_41. A convex lens with focal length 8.00 cm has the power of the lens
(a) 205D (b) 4.00D @ 125D (d16.0D
42. The loudness of a sound is most closely related to its
(a) frequency (b) period (c) wavelength @ amplitude
43, If the pendulum complefes exactly 12 cycles in 2.0 min, the frequency of the pendulum is
(a) 0.10 Hz @171z () 6.0 Hz (d) 10.0 Hz {- ﬁ;
44, An object at Farth and taken to Moon should have (= i

> 20

(a) Same mass/more weight (b) less mass/less weight (c) same mass/same
weight @ same mass/less weight
E 45. The shortest distance between two couple forces is
) (a) moment arm @ couple arm (c) radius (d) double moment
46, The unit used for pressure in weather maps is
(a) Atm (b) Pa @ bvar (d) Nm?
47, Hthe string of the pendulum is shortened to half its original length, then the frequency

will
@ Increase by a factor of V2 (b) decrease by a factor of V2 (c) increase by
1 ' 1
a factor of NG (d) decrease by a factor of 5

48. Cytoscope is an instrument used to diagnose
(a) blood @ cyes (c) stomach  (d) bladder
_~49. How much work must be done to increase the potential of a charge 2.5%x107 C by 100 V?
(a) 1.5¢10% @ 2.5%10° () 3.5%x10°  (d) 4.5%107
\ ’_/-50. A small flashlight bulb draws 300 mA from its 1.5 V battery, the resistance of the bulb is

(a) 3Q &s5Q (c)10Q (dy15Q
%
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Screening Test for the post of Trained Graduate Teacher (TGT)

ﬂ Lo { e

1. Which of #hte following is the smallest prefix?
&a)ﬁ) (b) pico (c) nano (d) femto

}’!{LI H»Gﬁﬂh g ¥
7

Name: Father name

i

2. Abodyin equilibrium must not be
v (a) at rest (b) moving (c) rotating (d' accelerating
'\//,* L 3. The slope of distance-time graph represents /
(a) acceleration (b) change in acceleration (¢ speed (d) distance

4, Abike beinsto accelerate at a constant 0.3 m/s? for 3s, what is its change in velocity?

(a) 0.9 m/s (b) 1.5 m/s (¢) 1.95 m/s (d)24m/s -
5. KITAB UL MANAZIR is the of bool written by b
(a) Yaqub Kindi (b Tbnal Haitham (c) Al Beruni (d) None G- %{
\ ' 6. How many times the centripetal force will increase if the mass of a body moving with avoe »d
B unform speed in a circle is doubled? Avz 378
(a)  two times (b) three times (c-) four times (d) six times i

"7 Which of the following forces can act as centripetal force:

(a) tension (b) fraction (c) gravitational force (d) all of these
" g Conventionally anti-clock wise toratc is taken as
(a) negative (b) M (c) parallel (d) zere
9. The angle at which ‘X’ and ‘y’ components of f‘(\)ryf‘/ﬁqual is
(a) 0° (b) 30° (c) 45° (d) 60°
S 10. The S.I unit for gravitational constant ‘G’ is
(a) NKg? (b) Nm?Kg? (c) Nm?Kg2 (d) Nm?Kg¢?
1L When a body is moved from sea level to the top of a mountain, there is change in the
body’s o
(a) mass (b)\’v/veight , (c) both mass & weight (d) none
~12. An object of mass 10 kg s lifted vertically through a height of 5 m, the gravitational
potential energy gained by the object is /
(a) 10J (b) 2017 (©) 507 (d) 490 J
mwazice
bz \/;; Cq M Dk Fee 'v"e%!'
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. ~13, Which material is more elastic s

(a) wood (b) rubber (c)\;teel (d) plastic
~/ 14.The S.1 unit of strain is - Bl
" (a) Kgm™ (b) Pa (c’)&ifm‘2 (d) none
15 Liquid and gases are collectively categorized as P
| () Liquid (b) Pascals (c) Fluids (d) None
. ~"16. When water at 0°C is heated-, 't egntracts till temperature reaches
- (a) 1°C (b%“m (c) 100°C (d) 1000°C
17. The amount of heat required to raise the temperature of 1 kg of water by L kis
(a) 1007 (b) 200} (c)3101] (d)4190J
iy*he transfer of heat by convection is smallest in
" (a) Solids (b) Liquids (c) Gases *(d)ﬁle
> 19, Which of the following has the highest thermal conductivity
(a) Wood (b) water (c) wool (d) atr

20. A wave sports
(a) Energy but no matter {(b) matter but no energy (¢) both energy & matier

(d) none
\ @ W the following does not affect the period of the mass-spring system
(ay'mass (b) spring constant (c) amplitude of vibrations (dy All

of the above affect the period T
59 An echo occurs when a sound wave is
| (a) absorbed (b) transmitted (c) refracted (d) reflected
23 Which of the following cannot transmit sound
(a) solid (b) liquid (c) gas (d) vacuum
N 4. The focal length of convex mirror with radius of curyature 10 ¢m is
" (@ +10em (b) +5 cm mﬁn (d)-5 cm
25, The human eye forms the /’mﬁg;(}f an object at its
(a) Iris (b) retina (c) pupi} (d) cornea

/ 26. The value of coulomb coWLdepends on
(a) Value of charges (b‘ sraterial medium  (c) separation between charges

(d) all of these



L’

v

? /27 A capacitor ‘C’ has charge “(Q’, the actual charges on/the plates are

(8 Q.Q (b) Q. 0 @Q Q (@ Q12 Q12
28, The resistance of a wire will decrease by increasi P - gl
(a) temperature (b) length lameter (dybotha& b A

(a) 2 Q

[ 30 Sli{)ﬁfﬁ/ﬂ}a’ﬁ a part of
(2)'DC motor (b) AC

magnet

“"31. A step-up transformer increases
(a) power (b) energy
gy The:?yﬁf inductance, Henry, is equivalent to

A9 Two resistance of 1 Q are connected in parallel, the equivalent resistance is

generator (c) transformer fr F- (d) Li;
ot VoK
(C)) voltage (d) current e b

 (aVs/A {b) VA/m (c) As/V () V/A
/33 If the magnetic field is applied parallel to the direction of electron beam, the glectron will
(a) Speed up (b) slow down (c) deflect (d) not change 1ts "
state B
34 If the electric field is applied to the direction of electron bean, the electron will
(a) Speed up (b) slow down (c) héﬁect (d) not change its
state o
*"35. The Boolean equation for NAND gate is ////
(a) X=AD (b) X=A+B (c) X=AB (d) X=A+B

*" 36, The phenomenon of total inte

(a) Electric wires (bj optical fiber

radio

(a) Electric wires (b) optical fiber

ca,b&e

Sflection is used in the transmission of signal through

(c) electromagnetic waves (d)

/ 37. Telephone transmission is the example of transmission of signals through

(c) electromagnetic waves (d) all

. “18. What type of nucleus decay Jeaves the number ;)im}mm/and neutrons unchanged?
(a) Alpha decay (b) Beta decay (c¢yGamma decay (d)botha&b

S

. / 39, Origin o energy from the Sun and Stars is
(a) fission (bytusion (c) carbon dating (d) radioactivity



/-""'/40. If the distance between two charged particles is halved, the Coulomb force between the

two charge particles become

(a) half (b) one quarter (c) double (d) four times
4L A convex lens with focal length 8.00 cm has the power of the lens
T (@205D (b)%%)m D (©)12.5D (d) 160D
‘ 42 The loudness of a sound is most closely related to its
(a) frequency (b) period (c) wavelength (d) amplitude
N 43. 1f the pendulum completes exactly 12 cycles in 2.0 min, the frequency of the pendulum is
(2) 0.10 Hz (b) 0.17 Hz o76.0 Hz (d) 10.0 Hz & H
. /44, An object at Earth and taken to Moon should have T;} &
(a) Same mass/more ight (b) less mass/less weight (c) same mass/same ks
weight Qd)s{my: mass/less weight
' 45. The shortest distance between fwo couple forces is
l (a) moment arm Qaj{up:e arm (c) radius (d) double moment
7 46.The unit used for pressure in weather maps is
(a) Atm (b) Pa ar (d) Nm™
v 4T If the siring of the pendulum is shortened to half its original length, then the frequency
T il
(a) Increase by a factor of V2 (b) decrease by a factor of V2 (¢) increase by
a factor of ;,1—5 Wrease by a factor of %
J;\:: ,\ 48. Cytoscope is an instrument used to diagnose
) q,;ﬂ B ~ (a) blood (b) eyes Mh (d) bladder
S /\3 PN U 49, How much work must be done to increase the potential of a charge 2.5% 107 C by 100 V?
¢ X @) 15x10° (r25x10° (93, 5x10°  (d) 4.5%107
NP / 50 A small flashlight bulb draws 300 mA from its 1.5 V battery, the resistance of the bulb is
) z%e@?(\til | - (a) 3 © 50 (©) 10 Q2 @15 !
> ,\\V '\/Mﬁf - 23l
v A < );/\, - & "/\(;“ f\C
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1. Which of the following is the smallest prefix?

\ (a) atto (bB/pico (¢) nano (d) femto
2. Abodyin equilibrium must not be
% {a) atrest (b} moving (c) rotating (d) accelerating
3. The slope of distance-time graph represents
\ (a) acceleration (b) change in acceleration  (€) speed (d%istance
4. A bike begins to accele{%e ata constant 0.3 m/s? for 3s, what is its change in velocity?
. (a) 0.9m/s (b) 1.5 m/s (c) 1.95 m/s (d) 2.4 m/s
N > 5. KITAB UL MANAZIR is the name of bool written by
a\’*b"i: (a)\/ Yaqub Kindi (b) Ional Haitham  (¢) Al Beruni (d) None
6. Hlow many times the centripetal force will increase if the mass of a body moving with
VEER " \;ﬁ N, unform speed in a circle is doubled?
W \ ,\7+f/> B (8)  twotimes (b) three times (c) four times (d) six times
% w_ 7, Which of the following forces can act as centripetal force:
'}‘;ﬂ . %/ 'b (a) tension (b) fraction (c)\@vitational force (d) all of these
N 8. Conventionally anti-clock wise torque is taken as
=\§><S:n > (a)/ negative (b) positive (c) parallel (d) zero
\/9 The angle at which ‘¢’ and ‘y’ components of force are equal is
@0 (b) 30° ey 45° (d) 60°
: 10. The S.1 unit for gravitational constant ‘G’ is
e (a) NKg? (o) Nm*Kg (c) Nm*Kg2 (t\i{Nm‘ng2
11. When a body is moved from sea level 0 the top of 2 mountain, there is change in the
~. body’s
(a) mass (b) weight (c)vgoth mass & weight (dy none

12. An object of mass 10 kg is lifted vertically through a height of 5 m, the gravitational

\ potential energy gained by the object is

"
(a) 10 (b)201J (c)501] (d) 49017
N=Rai
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; 13, Which material is more elastic

(a) wood (b) rubber (c) steel (d) plastic
» 14.The Sl unit of strain is
(a) Kgm? (b) Pa (\c/)/l\l'm'2 (d) none
15 Liquid and gases are collectively categorized as
(a) Liquid (b) Pascals (c:)/;“ luids (d) None
w16, When water at 0°C is heated, it contracts till temperature reaches
(a) 1°C (b) 4°C (c)\/mO°C (d) 1000°C
17. The amount of heat required to raise the temperature of 1 kg of water by 1 k is
(a) 1007 (b)200J ‘6) 310J (d) 4190 J
18, The transfer of heat by convection is smallest in
(a)vgolids (b) Liquids (¢) Gases (d) None
19 Which of the following has the highest thermal conductivity
" (gWOOd (b) water (c) wool (d) air

- 20. A wave transports

(a) Energy but no matter (b) matter but no energy (c) both energy & matter
(d) none
21. Which of the following does not affect the period of the mass-spring system
(a) mass (b)\/spring constant (c) amplitude of vibrations  (d) All
of the above affect the period

. 22, An echo occurs when a so&nd wave 18

(a) absorbed (b) transmitted (c) refracted (d) reflected
23. Which of the following cannot transmit sound
(a) ‘éolid (b) liquid (c) gas (d) vacuum
- 24. The focal length of convex mirror with radius of curvature 10 cm is = N
(a) +10 om (b5 e (c)-10 cm (d) -5 cm e
95 The human eye forms the image of an object at its
(a) Iris (b) retina (c) pupil (d\)é)-mea P
g 6. The value of coulomb constant (K) depends on ‘;:‘

(a) Value of charges (b) material medium (c) separation between charges
(d) all of these
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27 A capacitor ‘C’ has charge *QQ’, the actual charges on the plates are

(@ Q,Q 5 Q.0 (©)Q,Q (d)Qn2,-Q2
28, The resistance of a wire will decrease by increasing
(a) temperature (b) length (c)\/ci‘iameter (d)botha & b
~ 29, Two resistance of 1 L2 are connected in parallel, the equivalent resistance is
@20 m1se Yoie ) 0.50
N 30. Slip rir\lyre a part of
. (a) DC motor (b) AC generator (c) transformer (d)
magnet
31, A step-up transformer increases %
(a) power (b) energy (¢) voltage (d) current
. 32 The unit of inductance, Henry, is equivalent to
@) VA (b) VA/m (©) As/V (@ V/A
13, If the magnetic field is applied parallel to the direction of electron beam, the electron will
‘@ Speed up (b) slow down (c¢) deflect (d) not change its
state
“J 34 1f the electric field is applied to the direction of electron bean, the electron will
2 (aS/S‘peed up (b) slow down (c) deflect (d) not change its
stale

~"35. The Boolean equation for NAND gate is

(a) X=AD (b) X=A+B (& X=AB (d) X=A+B
</ 36. The phenomenon of total internal reflection is used iri}}'le transmission of signal through
| (a) Electric wires (b) optical fiber (¢) electromagnetic waves (d)
radio '

3T Telephone transmission is the example of transmission of signals through

(a) Electric wires (b)/optical fiber (c) electromagnetic waves (d) all
a,b&c . :&
. -~
-/ 38. What type of nucleus decay leaves the number of protons and neutrons unchanged? s
%) Alpha decay (b) Beta decay (c) Gamma decay (dybotha &b
. 39. Origin o energy from the Sun and Stars is . a\,,

/
(a) fission  (b) fusion (c) carbon dating (d) radioactivity
c=8
/
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5 A0, Tf the distance between two charged particles is halved, the Coulomb force between the

two charge particles become

(a) half (b) one quarter \(gdouble (d) four times
41. A convex lens with focal\l/ength 8.00 cm has the power of the lens
(a) 2.05D (b)4.00D () 125D (d) 16.0D
4 42.The loudness of a sound is most closely related to its
\(é) frequency (b) period (c) wavelength (d) amplitude

W43 If the pendulum completes exactly 12 cycles in 2.0 min, the frequency of the pendulum is
| (a) 0.10 Hz (b) 0.17 Hz (5 6.0 Hz (d) 10.0 Hz
[ 44.An object at Earth and taken to Moon should have

> 730 ' (a) Same mass/more weight (b) less mass/less weight (c) same mass/same
{"’ weight  (d) same mass/less weight
\;:P L 45 \; he shortest distance between two couple forces is
v;ﬁ.\,fa (a) moment arm (b) couple arm (c) radius (d) double moment
" 46. The unit used for pressure in weather maps is
\’V; ' @ Atm  (b)Pa (& bar (d) Nm?
V,g v “47. 1f the string of the pendulum is shortened to half its original length, then the frequency
wi]\}/,
(a) Increase by & factor of V2 (b) decrease by a factor of V2 (c) increase by
a factor of % (d) decrease by a factor of %
48 Cytoscope is an instrument used to diagnose -
(a) blood (b) eyes (c) stomach  (d) bladder

~/_ 49, How much work must be done to increase the potential of 2 charge 2.5x107 C by 100 V?
(@ 1.5x103  (b)2.5%10° (c) 3.5x10° (d) 4.5x107
. //"/ 50. A small flashlight bulb dfiyvs 300 mA from its 1.5 V battery, the resistance of the bulb is

(a) 3 Q2 )50 ()10 &2 (@1s5Q
Q
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